Answers to OAD 1993
1. A strip of copper is immersed in dilute nitric acid.  

Reaction type: elemental copper ( redox 

Note: Remember, anything in the elemental state will suggest a redox reaction. Also,

looking at “Stuff I Should Know Part 1”, you will see that dilute HNO3 will produce NO and water.
Answer: Cu + H+ + NO3- ( Cu2+ + NO + H2O

2. Potassium permanganate solution is added to acidic solution of hydrogen peroxide.

Reaction type: redox
Answer: MnO4- + H+ + H2O2 ( Mn2+ + H2O + O2
3. Concentrated hydrochloric acid is added to solid manganese(II) sulfide.

Reaction type: double replacement
Answer: H+  + MnS (  Mn2+ + H2S
4. Excess chlorine gas is passed over hot iron filings.

Reaction type: elemental halogen (and transition metal) ( redox

Note: It’ll be a synthesis reaction (remember, synthesis is redox).  Since there are two elements, it will be synthesis.

Answer: Cl2 + Fe (  FeCl3 
5. Water is added to a sample of solid magnesium nitride.

Reaction type: metal nitride + water ( base + ammonia
Note: This isn’t one of those common reactions.  For that reason, I don’t think you’ll see this one on the new AP exam.

Answer: Mg3N2 + H2O ( Mg(OH)2 + NH3
Reaction type: metal + water ( base + H2    
Answer: Na + H2O ( Na+ + OH- + H2
6. Excess sulfur dioxide gas is bubbled through a dilute solution of potassium hydroxide.

Reaction Type: synthesis

Note: This isn’t one of those common reactions.  For that reason, I don’t think you’ll see this one on the new AP exam.
Answer: SO2  + OH- ( HSO3-
7. Excess concentrated ammonia solution is added to a suspension of silver chloride.
Reaction type: complex ion formation 
Answer: NH3 + AgCl ( [Ag(NH3)2]+ + Cl-
8. A solution of tri-potassium phosphate and zinc nitrate are mixed. 
Reaction type: double replacement
Answer: PO43- + Zn2+ ( Zn3(PO4)2
.

